Mega Mathematician

I can use inverse cperations to check answers to calculations.

Calculate the answers to the following calculations and
check by using the inverse operation.

126 358

- 113 + - 346 +
121 334

+ 124 - - 124 -
237 511

- 124 + - 230 +
331 664

+ 125 - - 223 +
143 753

+ 130 - + 336 -
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Mega Mathematician

I can use inverse operations to check answers to a calculation.

Calculate the answers to the following calculations and
check by using the inverse operation.

135 1Y
+ 170 + 445
274 (93
+ 137 - 254
254 372
- 127 = 145
382 3758
+ 436 + 557
487 988
- 248 - 429
354 258
- 228 + 144




Mega Mathematician

I cam use inverse operations to check answers to a calculation.

Calculate the answers to the following calculations and
check by using the inverse operation.

993 243

- 723 + + 164 -
713 473

+ 475 = - 137 +
724 267

- 251 + + 932 =
958 974

- 643 + + 233 -
504 1695

- 261 + - 293 +




Mega Mathematician Answers

126 13 358 12
113 + 113 - 346 * 346
13 126 12 358
121 245 334 210
124 - 124 - 124 + 124
245 121 210 334
237 113 511 T41
124 + 124 + 230 =230
113 237 T4l 511
331 456 664 441
125 - 125 - 223 + 223
456 331 441 664
143 273 753 1089
130 - 130 + 336 - 336
273 143 1089 753




Mega Mathematician Answers

135 305 568 1013
170 = 170 + 4145 = 445
305 135 1013 568
274 411 693 439
137 = 137 - 254 + 254
411 274 439 693
254 127 372 227
127 + 127 = 145 + 145
127 254 227 372
382 818 375 932
436 - 436 + 557 - 557
818 382 932 375
487 239 988 559
248 + 248 - §29 + 429
239 487 559 988
354 126 258 1002
228 + 228 + Thiy - T4
126 354 1002 258




Mega Mathematician

Caleulate the answers to the following ealeulations and eheck by using the inverse operation.

correct / incorrect

correct / incorrect

786 607
- 239 + 239
607 846
372 1082
+ 710 - 710
1082 372
342 276
- 146 + 146
276 422

correct / incorrect




